


Thinking in 3D: Slices through fruit	

Introduction
In geology, we often need to visualize the interior of an object or objects that we can’t observe directly. Although many people erroneously believe that 3D thinking skills are genetic (you either have them or you don’t), a preponderance of research shows that they improve with practice, just like any other skill. This exercise is designed to give you some practice thinking about slices through familiar 3D objects. 

We’re starting with fruit because it’s familiar, so that imagining slices through it may be easier than imagining slices through, for example, geological features. However, if you can imagine slices through these familiar objects, you are one step closer to imagining slices through sedimentary deposits, rocks, or fossils. (Consider, for example, how a fruit salad is similar to a pebble conglomerate….) 


Individual pieces of fruit

1. Match the section lines with the correct cross sections below. 

[image: C:\Users\tue42346\Dropbox\Used Images for Workbook\whole strawberry.JPG]












                A                                                  B                                                  C
[image: C:\Users\tue42346\Dropbox\Used Images for Workbook\strawberry_angle cut.JPG][image: C:\Users\tue42346\Dropbox\Used Images for Workbook\strawberry_horizontal cut.JPG][image: \\cladata\Shipley_Group$\Ilyse Resnick\100PHOTO\SAM_1418.JPG]


2. Match the section lines with the cross sections below. Which cross section does not correspond to one of the indicated slices? 
[image: C:\Users\tue42346\Dropbox\Used Images for Workbook\whole banana.JPG]











                   A	                                                    B                                                        C
[image: C:\Users\tue42346\Dropbox\Used Images for Workbook\banana_angle cut.JPG][image: C:\Users\tue42346\Dropbox\Used Images for Workbook\banana_vertical cut.JPG][image: C:\Users\tue42346\Dropbox\Used Images for Workbook\banana_horizontal cut.JPG]









3. Sketch the missing cross section:




















4. Match the 2 of 3 section lines with the correct cross sections below. 

[image: C:\Users\tue42346\Dropbox\Used Images for Workbook\whole apple.JPG]











 


[image: C:\Users\tue42346\Dropbox\Used Images for Workbook\apple_vertical cut.JPG]	      A                                                                     B
[image: \\cladata\Shipley_Group$\Ilyse Resnick\100PHOTO\SAM_1371.JPG]












5. Sketch the third cross section: 



6. Match the 2 of 3 section lines with the correct cross sections below. 

[image: C:\Users\tue42346\Dropbox\Used Images for Workbook\whole pineapple.JPG]	        













                                        A                                                                     B
[image: C:\Users\tue42346\Dropbox\Used Images for Workbook\DSCN0098.JPG][image: C:\Users\tue42346\Dropbox\Used Images for Workbook\pineapple_vertical cut.JPG]














7. Sketch the third cross section:



Multiple pieces of fruit

8.  Study the image below and select the correct cross section image.
[image: \\cladata\Shipley_Group$\Ilyse Resnick\100PHOTO\SAM_1189.JPG]

















                            A                                                B                                                   C
[image: \\cladata\Shipley_Group$\Ilyse Resnick\100PHOTO\SAM_1412.JPG][image: \\cladata\Shipley_Group$\Ilyse Resnick\100PHOTO\SAM_1406.JPG][image: \\cladata\Shipley_Group$\Ilyse Resnick\100PHOTO\SAM_1410.JPG]

9. Explain why the other two answers are incorrect:



10. Study the images below. Imagine a vertical slice that cuts through the middle of the pineapple.  Explain why the cross section, below, is not a slice through this particular arrangement of fruit. 

[image: Macintosh HD:Users:cormand:Desktop:unsliced.tif]

[image: Macintosh HD:Users:cormand:Desktop:sliced.tif]












11. Sketch the correct cross section.




12. Compare your sketch with photo of the actual slice through this fruit arrangement, below.  In what ways is your sketch the same as or different from the photo?

[image: Macintosh HD:Users:cormand:Desktop:slice_edited-1.tif]











13. Look at the image below and in the space provided, sketch a vertical slice of the image. The vertical slice cuts through the middle of the pineapple.

[image: C:\Users\tue42346\Desktop\extra images\DSCN0083.JPG]












	





























14. Compare your sketch with the picture below. In what ways are they the same or different?

                       [image: Macintosh HD:Users:cormand:Desktop:fruit.tif]













15. Why are the front objects not included in the cross section?













16. Choose the correct sketch of a slice through the image below.

                                 [image: Macintosh HD:Users:cormand:Desktop:fruit.tiff]
[image: C:\Users\tue42346\Dropbox\Used Images for Workbook\fruit sketch2.jpg][image: C:\Users\tue42346\Dropbox\Used Images for Workbook\fruit sketch3.jpg]

[image: C:\Users\tue42346\Dropbox\Used Images for Workbook\fruit sketch1.jpg]
17. Explain why each of the other choices is incorrect.


Thomas Hickson, University of St. Thomas, and Ilyse Resnick, University of Delaware
Spring, 2015

Thomas Hickson, University of St. Thomas, and Ilyse Resnick, University of Delaware
Spring, 2015
image1.jpeg




image2.jpeg




image3.jpeg




image4.jpeg




image5.jpeg




image6.jpeg




image7.jpeg




image8.jpeg




image9.jpeg




image10.jpeg




image11.jpeg




image12.jpeg




image13.jpeg




image14.jpeg




image15.jpeg




image16.jpeg




image17.jpeg




image18.jpeg




image19.png




image20.png




image21.png




image22.jpeg




image23.png




image24.png




image25.jpeg
PRS00
i

e
.

mmzwm‘%%

i
it '
s

d,wﬂ\ W k, 4
e

W‘%“&mmmm —_—
M"“”
“5““““' -

M o
AMMW&WW R





image26.jpeg
A SR N
aww Mw\m%

r memww«@mw%
g Sy

g,

S

T e

&8
i & ('% oy %
. ™™

e
%%mw st

S RS

S
#
s




image27.jpeg
SRR

R -

P ™
O

e
g
o

e

™
e

e —




